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A : Listen to this typical Scotsman and answer the questions. (Coursebook, p.11, CD Nr. 3)

A typical Scotsman wears a skirt.
⃝ yes	⃝ no


What does Howie Nicholsby do ?
⃝ skirts	⃝ kilts	⃝ kites


When he was a boy, what did he think about kilts ? He found the kilt…
⃝ short	⃝ comfortable	⃝ unconfortable


Who comes in his shop ?
⃝ Robb Williams	⃝ Robbie Williams	⃝ Robbie Willi


How long customers have to wait until a kilt is finished?
⃝ Eight weeks	⃝ Eighty weeks	⃝ Eighteen weeks


What does his son say ?
⃝ It’s a weasure to pleasure !	⃝ It’s a measure  to pleasure!	⃝ It’s a pleasure to measure !
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